Ex # 1.3 €

‘nbﬂk)ﬁmn6¢4bw&mﬂujﬁq" oS
» Fan@—’livv, find The Thee wnlegers
Soludiows
Lt ;
1 /’nfege»’ = R
Zm{ f)?fé(?@t = x1+1
3WL mfegar =XF 2
ﬂccmfo(fhj D T f'ﬁven« Conclitiow
N+ A4TL + n+2 = Y2

S +3 = Y2
2 =423
2n = 39
X = 39°

——

X
[x - 3]

t . -
1% nteger = 5 = 13

nd
2 ,'nfgge}/z u+1

:%31“!

3'J:'n'[€ye}”; H+ 2

= 13+2 =7LTQ


https://v3.camscanner.com/user/download

7
(Q,Z El o[aajfant Show and nTZLf angy
ORBc m” which e Mng of ﬂg
A (13 +JS)em. The arca JFJHBC %
(145 )em’ bind o longlh 7B im The
fom (a3 b3 )ome, where o omd b
are mliﬂws
c“,\lﬂ,n%
Longlhe of e = (3 45)..
Aﬁla/ &V{/ AHBC$(1+K)LWL
Find. . ‘
Lengﬂv of AR =7 A (34)5)em Cw
we Know thal
'ﬁ)’@w ﬂ.,f/ f”-'aﬂjfé =J—}— (%a/.w( H@/’ﬁif)

el

Prea of f/ufmﬁ/@z%[ﬁl X B )
I+ ¢ _



https://v3.camscanner.com/user/download

24205 . PR

f
J3+ ¢
11
B = 2 *+2Ji¢
B J3 +J¢
8 = 242Jis 5 - T
2 +JS -

B - 2t2JEex J5 gz " 2 -0 =(a+b ) (0-b)

(Jal - (5c Y

BB =" 23— 203 4205 J3- 205X
(3-8 )
RB = 2J3 - 2JC + 20 -2J7¢
“‘2« " 3|\ ut
EANT
AB-  2B-25t2Fxs )i, 0 e
Iy
3) ¥
B - 2J3-2J8 4 2 SIS - 2 J6)3 S
-2


https://v3.camscanner.com/user/download

(47

[T 2WJ3-2J5 + 6JC - W0JF
_ = i
AB = 2J3 - 10/3 -2 5 +6JT
~2
AR = _-8)3+ YJT
Y —-2 4
= 283 . 42
. 7

@O3: A fec%ang/ﬁ bas Sides 4 b’"ﬂﬂ‘
2+)18m and (&—5’— )m- EXPYIM The avea

J2.
or The Y"’"ta”ﬁle o The  from a+bJ2
where o ond b ax mtegers.

SolwLiow? —
l@nqﬂﬁz: Z'f‘Jl_ém " o
wiolTh =(§— _L_'_)m B J2 m

2\ . =
a 2tNE w

Area 07C /@gcfmg/e:?

(%] CamScanner


https://v3.camscanner.com/user/download

We  Know That

Area. 0{( -Q“t‘“’f/lg [@”gﬂb X WidTh
= &4-ﬁ§)(&”— f’ﬁ)

'~

- 2(3‘-% ) +J’!3’(5'— _%}

=10-2XL +5fig - YJis.

i

(8

2

e 2
= 1D - E’ﬁ,xv\ v ST - UEg
A
=10 -4YJ2 +X3J2 - yx3)7
pz1

=0 -4J2 +1§J2 - 1%
=10-12 —“4J2 + (§J7
=2+ J3

E‘?— of = (—'Z, +\ J2 )m

Rev i‘cm?,'g Ak



https://v3.camscanner.com/user/download

.
&“3 Find two numbers whose Sum @

B 63 ond diffesence v 22,
let s

TWO nUmsz ol aw‘c’.[, O
Hccohclfnj To ﬁfl/eﬂ Conclitfion

0L1“/5 — 63 --————5(“
A-H = 22 (i)
fAdd  G) oundl Gid)
20. = 40
& - ;q_g,—‘ff
4

[ = 4]
Pui a = U¢ wm eL]/U')

nt+b = 6%
Y$+b = 68
o =68 -Y(

[b = 23]

(%] CamScanner


https://v3.camscanner.com/user/download

QV ﬂ—\ﬁ weaTher  wn  lahore waAUnUsuw@j
watnt alaﬂing e Swmmes o 202Y. The
WV news mpa/lteaf tempbicure oA Iu‘yh as
Y& . By Wing e ﬁrm(fa,, (°F :35_"64%9
Find Tl femgwaﬁli’e w  fahvenhet Scale.
Solulis -
Tempaaﬂfzx@ w'C - Yy

[ 4 C + 59

‘h
I\
RS
~N
Ny
%b
b SR
_‘.
O
N



https://v3.camscanner.com/user/download

No: The Sum of e ages of e Tather (“ﬁ

and Som & T2 Yeaus. Six yeak aqo?
',”\l’. FaThess  a g¢  wa 24mes  The
nge .~( The Som. whal was  Son'y a 4o

\
Six Years aqgo?
et
Son's age = x

Jrﬁﬁa&)"\\' r‘l(/‘; = .:‘{

H L‘(.OJ\CUJ*lf/ To The Conclction ol (LNMEJ; v

u'; "

0+ I — (1)

. Al

Six )"L‘?(U} ago
fo”::\‘ ;'hft’ = M=
I:;-'L'fj:'-"-} ':\ cl-fe' =3 {.f -\‘.‘
Y U

fl Cco/wl-z'ny To Condlition .
lj ~ b6 = 2(n-6 \
l‘j - (:‘ = ,q\ p al ,-

(%81 CamScanner


https://v3.camscanner.com/user/download

0n
.Zyrfj = 6 —— (il)

ﬂdzLi’nﬁ (M) omd »

)l‘l"ﬂ = 1L
27L“L1 = 6
371- ::78
o =14
5
A = Zb
Lgl)( ljaaM “ﬁo
SOW)J a,af-!g = 9-g
=26-46
2 = Z
[S\O/’Jé e ¢ Yeaks Iﬁm



https://v3.camscanner.com/user/download

(B2 Mgkw bought 5. toy For Rs. I500
f\m Sold  for Rs. 1€20. what was
W profit  Puueentage s
Solliom: |

Co&'[ Prfc& = 1S 00
Setb‘ng Price. = 1520

4 okt = 5&/,&1'/23 fice — CoT fire

= 1§20 - 1§00
= Rs 20

;0 Y0 ﬁz% /= [ folit
. X IOO) 7

= <_,,.2_Q— ] y
- (22 X aoo>/



https://v3.camscanner.com/user/download

Qs: The anmual income o Tayyab RO,
Rs. 960,000, white e exmpféol
amownd » Ba 1,30,000 How mucch
tax  would he howe To Faﬁ il The
it o 07
Soluliows

ﬁnnuaﬂ mcome = Re. A,.60, 000
&xemp’fed/ amount = fs. 1,30, 000

Kemwim'nﬂ omound” = 9,60,000 - l, 30,000

= 8,30,000
Tuxable Pmowt = 8,30,000x 078

= 8,320,060 X0.73§ X

Leo
= 8300 x0.7<

Taxakle  omownt _ Re. 622( I
U fins



https://v3.camscanner.com/user/download

(Q‘V find The Com 0und ma/ta;p
f. 375,000 for ane year

@

rale # 1Y 7. Campaundal annuaﬂj? ~

So huion +
PYIWPQ,Q M)’)Ou,w’f([)) = 1. .?D ¢ , OC0
Time (1) =1 Yw/i
Ride LA =

Compourit Markeup = ?
We  Know Thed
MKLLP = PXIQXT
= 3,235,000 X 1y7 x 1

= 3,3C,000x 1M ¢
e
= 3350 X Y

0 9
PJ)M JPCL{,,Q — KA. .() ,'Z | B L/)(/} '

_— )



https://v3.camscanner.com/user/download

